Chem 2062 - Quiz #2 — Spring 2007 Name / Y

1. (3 pts) Give the name of the following compound.
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2. (9 pts, 3 each) Give the structure of the major product(s), starting material or the
reagents needed for the following transformations.
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3. (2 pts) What s the product (if any) when 1 equivalent of CH3CHoMegl 1s treated with 1
equivalent of 2-hydroxyethanal?
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4. (3 pts} Match the name with the general formula for the following compounds.
Possible names are: epimer, anomer, alcohol, hemiacetal, acetal, hemiketal, ketal,
oxime, imine, hydrazone,
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5. (8 pts) Please write the complete mechanism for the following Wolff-Kishner
reduction, starting at the intermediate hydrazone.

Write mechanism for this part

0 NH,NH, - NaOH
H C)LH . /H\ diethylene glycol R
L He A hea + NEN
) hydrazone
Nog Poh )
aJ /*R_/ o .') : 4 = ’i_g;
C*_L TN ~ ;!N " N/_\‘F' NS
|+ A C ¢ TP [ = ; }J AN 1
3 C/H‘/ \/A Cia ~ ('1\ _ E/
J /37 Mo



